Most Trusted Learning Platform

S | %
- - s -
L 4 8

By Dhrub Sir







~__...._..._..____.____upsc
Ta

6. If we take four numbers, the average of ¢ f2 g aR W@IU Ad £, @t ygeh &= &1

the first three is 16 and that of the last NTT 16 & 3N 3 @?WWG?I
three is 15. If the last number is 18 then gfe sifow W@ (18 ?ﬁﬂ'ﬂﬂm;
the first number is ?{/74_:&@ a, b, 8
4 ~ Yy~ a) 20
v‘:/z" = icQj&, Byt AxbTC=733 X443
by 21 “a-d=R e L ,
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7. The average of 5 consecutive numbers 7. 5 AN GBI BT 34 n 81 Tl arTeht

is n. If the next two numbers are also 2 w@e ot fye 3 ot S8 ot i
included, the average will. ¥

P52 63,%
IEIORAR )6 o Tdagemm " ’@@ A
\Mcmsebw ,D @9 ™~ b) HHMEIBW %)

b) remain the same ¢) 1.4 9 qg WTQM

¢) increase by 1.4 d) 29 d¢ wem

d) increase by 2 ]’ 2, &’“ 6
s
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8. The average of 50 numbers is 38. If two g 50 W@mail mkaﬁ'aa 8 ¢ 1 afe 3t s=mait
numbers namely 45 and 55 are discarded, 3y 45 3R 55 HI geT fea1 @Y, &t Ay

the average of the remaining number is SN FTNEd &
o ¢ IY s . <
a) 36.5 S1U 31 = a) 36.5 e S?{S%
b) 37 L‘ X b) 37 ) APy
¢) 37.6 =33. 9 378 N&v fuw | -4
3 4 S =
\9)/37.5 9375 > e \
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9. In a family of 8 males and a few ladies, the o @ oo Hfewet & aRar #, ufa

average monthly consumption of grain per afdq 3w @ tua afae @ ud
head is 10.8 kg. If the average monthly fretumm 21 af2 ufa aaq e @uqa
consumption per head is 15 kg in the case eel & ﬂl‘qﬁ A wfgerat &

of males and 6 kg in the case of females, ma #6 e e 7 ufgarait
find the number of females in the family. P TE&T G

SUXE+STXN~ ISXY b 430m
y EAN e S F AP
7 4 \bY"7
c) 9 AH“%?— ¢ 9
d) 15®Ir d) 15 @13‘

TE_—- v WI !
- _ ISX g+ X =
S\&’/1/ 5 - 3d 1IGER. | 6P




11. The average score of a class of 40 11. MWHRWEMTETWW@

Ta

students is 52. What will be the average il gfe 10 faenfdat &1 ahmw’h 618, ot

score for the rest of the students, if the  aTa fenfadl &1 3ivrd THIR &1 8N
average score of 10 of the students is 61?7
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a) 50
b) 47
c) 48
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12. The temperature from Monday to 12 ¥igaR & qUIR P e GGG 37°!n
Wednesday was 37 and from Tuesday to 3N HTEaR A AR d® 34"!}” gfe
Thursday was 34. If the temperature on T¥aR &1 dI9HTH JIHAR BT 4/5 41, a1
Thursday was 4/5 that of Monday, the TT$aR & ar9AT= fFaar un 3

temperature on Thursday was - 3
M "Tb\“-j a) 38 y+ Q"&‘ SX37
2 t

a) 38h=3( | S \b)"36 +T. =2 X
R £= N s
by 36— ‘7_?““7 0 40 AT \7
©) 40 L= d) 39 M= T, 2 2XBF2y)
d) 39




13. The average age of a teacher and three 13 ys fia® R di= fRenffal #t shwa amg

students is 20 years. If all the three
students are of the same age and the
difference between the age of the teacher
and each student is 20 years, then what is

the age of the teacher?
UPSC PT 2020
(17(.+’>1> = QU
a) 25 years )
YA =60

b) years = =
o s (XZID)

d) 45 years

2094 81 ofe F fRemdf s i su F € ok

Rigre_ iR wdle fendf #it smg & 4w 20
ad &1 3R 8, A R 3 amyg fpait &2
29 "~ UPSC PT 2020
a) 25 a4 S‘)—m'}b gy
pysoad SL —>y __ X

o3 sa S~ —

d) 45 a9
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15.In a class, there are three groups A, B and C. If ;¢ wwmﬂ.iﬂ?mksaﬁ?dlﬂﬁmﬁ
one student from group A and two students wf&mﬂaﬁ?maﬁaﬁﬁﬂfzﬂm’imcﬂ
from group B are shifted to group C, then what ‘mmﬁmmtmwtw&

—————

happens to the average weight of the students == o1 7 @7 B2

of the class? > uTPSC PT 2020
UPSC PT 2020 / A
a) It increases. a) UE q¢ WU k k R
b) It decreases. b) TE UT STC $\$\%< 3
c) -t remains the same. \_c)-T8 Tel | L J

d) No conclusion can be drawn due to d) IugfE ipsl & sRU orE Awd 8@
insufficient data freTen o1 @@
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16.There are twowmaﬂving 25 and 30 16. &I B&M3T A Gﬁ'{ﬂ H HH: 25 30 faemdf ) wan A

students respectively. In Class-A the highest ¥ USdH UIEI® 21 § TUT YAdH WIEI® 17 § HaM-B

score is 21 and lowest score is 17. In Class-B the # Jftrean wdi® 30 g auT : TP 22 &1 Hadl-
highest score is 30 and lowest score is 22. Four A ¥ IR faemdf wan-8 f&a oma )
students are shifted from Class-A to Class-B. "
Consider the following statements : F . :
1. The average score of Class-B will definitely \WT B &1 3fiwd wrwii® FAifda wu & wem
decrease. 2. B&M1 A BT 3d WTwie i =9 F aem|
2. The average score of Class-A will definitely >\ o
increase.
e Byl A A BH-A/BH-A T /82
Which of the above statements is/are correct? UPSC PT 2021
UPSCPT2021 | a) Faa 1
\,:{ ; Oﬂ:; b) &ad2
on
¢) Both 1and 2 o 13R23

d) Neither 1 nor 2 d JAar13dRATE2




gﬂE AtTR+C= 3xye=>o
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19. The average weight of A, B, C is 40 kg, the 19, A, B, C E‘l Jﬁm HRY 40 kg '3I 6
average weight of B, D, E is 42 kg and the AT U 42 kg%aﬂ'!rmmsafmt
weight of F is equal to that of BWhat is  &RTaY 21 A, B, C, D, E 31X F 3T 31¥d YR &1

the average weight of A, B, C, D, Eand F? 1,
UPSC PT 2022 UPSC PT 2022
a) 405 kg a) 40:5 kg 12\164\(,[
b) 408 kg b) 408 kg é
c) 41 kg \/c)/41 kg

d) Cannot be determined as data is d) FAuffya =8 fea o g@ar 8 «ife siee
inadequate i 8
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